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Ensure you have: Pencil or pen
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Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings
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Revision for this topic
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1. (a) Expand and simplify 2(3x + 1) + 4(9 — x)
bxvd + 36 - bx
2 + 3%

(b) Expand w*(w?+ 3)

@ Expand and simplify S(x —2) — 2(4x — 3)
Sx - 10 - g;(, Iy

= —'31/“4

3. Expand and simplify (m — 3)(2m + 3)
2m™ +3m - b -

Im" = 3m 9
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4.  Expand and simplify (3x + 5y)(7x — 2y)

z

747(.1- !/(7 f'35“7f/“/()‘7
212" + quj - /Oyl

5. Spadendemply fadDP—@E-1
[41+‘)[¢t-ﬂ) - (4¢x-1)

VR £ A B /SR

> Mx T Féy 2

6. Expand and simplify (6y —5)(3y +2)+ (1 —y)(2—y)

/gyL+ /ly —/‘7/\7 =10 fz—j~%/ +7
/gyi‘sj_/() + 2 '3J %7

: )?7‘«@ -&
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7. Expand and simplify (2x 4 y)? — (2x — y)?

Feteg ot - (r-ghlony)

i 42L1+41‘]"’<71 . (Qil '4717 ’77
: ng

5. Expandandsimpify (% +3x — 4)(3x —4)
}1/} _4741_}_ 71L w FZE ™ JA x F /1(

327+ 53 -y + /4

. =
9. Expand and simplify 2xy(x + 2y)(3x — y)
/21«1'(7 - 41yz)[31 '(7)
[ ;
i v 7, 3
. 5?63‘77[/2767 4 7 41‘/
- é)( 3] + /O)L-LJ.L = 41/3
......................... (3)
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10. ax—=2x+b)+8=10(x +2)
br - (X +}) 4§ - 10420
At ~ Qs - b+ F = 10 t10

_2b+8 =120 g4 S
,sz [ d 4= 14

bt

1. 2aBx—-1)+3(ax+7)=36x+b

Find the values of aand b

fayl -2a t 32X F 21 =3(x L b

: & +R1 b
La + 3£ :'3 = 15
D > 34
a4
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12. (a) Expand (y + p)(y — q)

1P L

(1)
() Y +ax+b=(y+p)y—gq)
Write a and b in terms of pand q
Y +zlj+b - ?j+ﬂk} - P
a=.... p*z .............
bz 2D
| ? 03]
13. Expand and simplify (x + 4)(4x — 3) — 2(x — 5)?
(7% -3y tlhz -1 - (;/:x2~ jOX flé_/
- Gyt HI3Z-IQ - 22T FQox -5
. 2yt F 33x - [2Z
......................... ”
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14.  Simplify (6x + 15)% — (5x — 10)* + 20x — 1

aiy? rifon + 225 - [352* -100x + 100) > 207 ~ |

/Ig? #3002 # 14

15.  Expand and simplify (4xy + 3xy? — 2y)(7x + x?)

1 e Iz u® e Byt %, B, 2
2§1y+fzjfélzj+zy /4{/ 0?1/

(2{1:} / 1/13(7 rl/xt‘yl '“31/3‘71 */hy/
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16. Expand and simplify —(2x> + -2— + 3x)
X

474‘+2f#¢4
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